
MTC 1 -STC 2 C.R.O.

MTC 1 @ spot height 476 in grid square 67 42

Cross the following grid lines in order

68 43 69 70 44 45 71 45 71

RC1 44 71 43 RC2 72 42 73 74

42 74 43 73 73 73 RC3 44 45

73 46            RC4 & STC 2 at next junction

RC1 What cycle route number appears here?

RC2 What cycle route number appears here?

RC3 Are you going SWR or LWR the triangle?

RC4 Which A road are you joining?

STC 2 - STC 3s C.A.R.

Pass through the following words written across the road.

Whitewell Skelgill Gates Cocklake West

Lovelady Shield High Nentsberry

STC 3s @ 797 447½

RC5 How many steep hill arrows do you pass through in this section?



STC 3 - STC 4 C.R.O.

STC 4 @ 839 559

RC6 How many times do you cross grid line 84?

0

STC 4 - STC 5s C.R.O.

Depart each grid square in the following directions

N   E   W   N   RC7   N   W   S   N   N   S   RC8   W   S   W   W   S   E   E   E   RC9   E   S   W   S

W   RC10   E   N   W STC 5s @ 815 553½

RC7 STILE RC9 What spot height?

RC8 FM RC10 What spot height?

STC 5s - MTC 6 C.R.O.

Plot the following grid references, join them together with a line, then cross

that line eight times to arrive at MTC 6

705½ 474½ 801½ 556½

MTC 6 @717½ 468

RC11 How many steep hill arrows do you pass through in this section?


